B I (Three Year H & G)
Under 1+1+1 System

2018

ENVIRONMENTAL STUDIES

( Honours & General )

( For Arts )
( Revised New Syllabus )

Time : 3 hours Full Marks : 75

The figures in the margin indicate Jull marks.

1. Answer all the questions (Choose the correct

option / Fill in the blanks / Write the full
form) : 1x15=15

(@) Jaldapara National Park protects mainly
() lions
(i) rhinoceros
(i) birds
(iv) tigers
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(b)

(c)

(d)
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(2)

The gas released during the Bhopal Gas
Tragedy was

i) methyl isocyanate
(ii) potassium isocyanate
(i) sodium isocyanate

(iv} ethyl isocyanate

Which instrument is used for measuring
intensity of earthquakes?

(i) Seismoscope
(i) Stethoscope
(i) Osmoscope

(iv) Seismograph

Smt. Medha Patkar’s name is associated
with which of the following?

(i) Narmada Bachao Andolan
(i) Chipko Movement
fiii) Silent Valley

(iv) Green Revolution

( Continued )

(3)

(e) Sound loudness is measured in
(i) decimal
fii) decibel
(i} richter
(iv) decabel

(f) Greenhouse gas(es) is/are
(i) oxygen
(i) CO, and nitrous oxide
(i) hydrogen sulphide

(iv) ammonia

(g) Xerophyte plants occur in
(i) forest ecosystem
(i) grassland ecosystem
(i) desert ecosystem

{iv) aquatic ecosystem

(h) Biodiversity hot spot region is
() North-East Himalayas
(i) Sunderbans
(i) Dooars and Terai Regions

(iv) All of the above
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G/
(k)

@
(m)
()
(o)

2. Write short notes on (any six) :

(a)
(b)
(c)
(d)
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{ 4 ))

In which step of food chain, the
maximum number of organisms are
found?

(i) Producers
(G) Primary consumers
() Secondary consumers

(iv) Tertiary consumers

Typhoid is borne disease.

The World
celebrated on __

Environment Day is
every year.

Write the full form of AIDS.
Write the full form of COD.
Write the full form of EIA,

Write the full form of IUCN.

5x6=30
Wildlife Protection

Landslide Control

Solid Waste Management

Eutrophication

{ Continued )

3.
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(e)

()
(v
(i)

0

Answer any two questions :

(@)

(b)

(c)

(d)

(S)

Human Rights

Earth Summit

Sustainable Development
Environment and Human Health
Depletion of Ozone Layer

Integrated Pest Management (IPM)

15%x2=30

Give an account of sources of air
pollution. Suggest suitable methods to
control air pollution. 8+7=15

Describe the conventional and non-
conventional sources of energy. Briefly
discuss the use of alternative energy

sources to solve energy crisis. 10+5=15

What is the value of biodiversity? Briefly
discuss the threats to biodiversity in the
Himalayan Region. How can biodiversity

be conserved in India? 4+7+4=15

Write about the role of women in
environment protection. 15
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[ BENGALI VERSION |
S| R AeE Tew we (e Tealt @er Ra @9/
A SR 9/ YA A @) Sx3e=>¢
(F) eTIoTel WO T Ao A A
(i) Pz
(i) &=
(iii) =t
(iv) A%
(%) §EE SOt 7GR fsfe sumifs ==
(i) REE SRETREES
(i) =ABIPEIN SR
(ii}) TG SRCTPIRICAD
(iv) 2% SRS
(o) TR SFOR RN (P T2 TS W 2
i) ez
(i) CHTHA
(iii) STREA
(iv) Brigmams
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(7))

(7) MAS @ A =W FafFRe @mb it
TGS 7

(i) =T {18 SR
(ii) Too{c1 =™
(iti) 2T Torer
(iv) & e
(8) M SFwl AR 9T 2
() CoPrrE
(i) CoPiaE
(i) <0
(iv) CTPIIA
() T=TT (Greenhouse) (k) 2=
(i) SfeCEH
(i) FRT RIS 8 FEPT THZS
(i) ZRCZICEA FCTFIRG
(iv) ST
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( 8) (9)
(z) e So (Xerophyte) fe7 “1sal A (@) DiRweEe REIRIECER
(i) SR AFECE () fey wAfice fase wiffry 2fs =3 Tfe
o7 |
(i) PrSH IESCE
(5) AIDS-« 3=H 7 &9 |
i) S T ' (8) COD-4& f ¥ (714 |
fiyd S SO (5) EIA-43 T T @9 |
(&) (&@ G3focars 26 ™0 (hot spot) 2 () ITUCN-a7 4 9 &9 |
(i) Tea-7 e ’
I ™ 21 g B @ (E- D) @x =90
() T (F) Il A
(iii) TP @ B LA (%) of-%o1 forae
(iv) TER SRS (s1) = T eI TR
@) 4 AR @ O RS e & e h (%) Fecgfrce
T 2 (8) AR
(i) TeARS { (5) @Al W (Earth Summit)
(i) 2 4 (7) 21§ ©de (Sustainable Development)
H (&) @ ¢ T
(i) el AT
(%) sTEE TS T
(iv) e 4ME
(@) PiRES C7FB T (IPM)
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ol A-FF b som Teg we Sexy=vo

(%) TR St ik 13 1 e R |
SN TR ST (g | r+ia=se

(%) =f&x aofre S uAfere Boiely gy we |
WWﬁmﬁmm@ﬁrw

91 do0+e=>¢

() R Wham w1 /2 Rwer wwe e
@iocam  Remaf s G T |
@Wt‘eﬁmﬁwﬁ@mwm?

8+a+8=%¢

() ﬂﬁmmﬂﬁamgﬁweﬁwﬁw Se
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2018

ENVIRONMENTAL STUDIES
(Honours & General)

( For Arts )
( Revised New Syllabus )

Time : 2 hours Full Marks : 50

The figures in the margin indicate full marks.

1. Answer any three questions : 10x3=30

(a) Ezxplain the major sources of water
pollution. Suggest suitable methods to
control water pollution. 6+4=10

(b) What is ‘global warming? Explain the
causes and consequences of global
warming in nature. 2+8=10
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(2) (3)

(c) Define renewable and non-renewable (c) Role of Family Welfare Programmes in
energy sources with examples. Why : controlling population growth
is there a growing need for energy?
Comment on the use of various forms of
alternate energy sources for overcoming
energy need. 442+4=10

(d) Hot spots of biodiversity

(e) Value education

(d) What are water resources? Discuss the
impacts of over-utilization of surface () The Wildlife Protection Act, 1972
and groundwater resources. How can
we overcome this problem? 2+6+2=10 (g) Environmental problems caused by
) chemical fertilizers

(e) Define ecosystem. Describe the flow of
energy through different trophic levels
in a grassland ecosystem. 2+8=10

() Explain the advantages and dis-

advantages of constructing dams. 5+5=10

2. Write short notes on any four of the
following : 5x4=20

fa) Deforestation

(b) Rainwater harvesting
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( 4) (5

[ BENGALI VERSION | } | FEffe @-cm wEba w1Eee Bl e ex8=30
S| @M feaf aeag Teg ws Y0x9=90 W =
(F) wor@EeE oW el e ¥ A U A e
et T SANGIRBARED 5 | 83 (o) SEPRe % e AR e SR g
(A) Ry Terer’ R 2 epfrs i THETT IET S () SRt 25 =5
siffefSaferm e we | 3+b=>30
(8) encary
(1) THZRPIR IR 8 SIS0 &
sigeEl (@19 | M7 SIfen (need) Tararen J@s p (5) e searmd ik, Svay
FEal Fo =g nfEn @ore [fen aeww '
AfR7F (alternate) *eq T P 713 | | (=) SPTEMS = AR TS FHe
8+3+8=>0

() wErTem 917 98N (surface) @ ST S
% qEEc AR e @9 9B TS
frmice Semafer e | 3+0+3=30

S B g S

(8) rEecE e we | geshim e Rfew M
AEces % 292 (energy flow) I
"B | I+r=50

(5) < (Dam) “MCTa ST @ AL 0 I |

¢+e=>0

e T
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